At:= 0.01 min
AX:=5 m
v:=268.17  m/min
4 m2
D= 0.17-10° I
min
T := 2000
MV
X := 4000
t=0.T-1
xi=1.X-1
fO,X =0
fo.2000=1
v-At
ft+1,x “x (Z_AX)'(ft,XJrl - ft,x—l) + { 2}'(ft,x—1 - 2'ft,x + ft,x+1)
1998 1999 2000 2001 2002
0 0 0 1 0 0
1 0 -0.024 1 0.024 0
2 5.825.10-4 -0.048 0.999 0.048 5.825-10-4
3 1.748-10-3 -0.072 0.997 0.072 1.748-10-3
4 3.494.10-3 -0.096 0.993 0.096 3.494.10-3
5 5.818-10-3 -0.12 0.988 0.12 5.818-10-3
6 8.717-10-3 -0.144 0.983 0.144 8.717-10-3
f= 7 0.012 -0.167 0.976 0.167 0.012
8 0.016 -0.191 0.968 0.191 0.016
9 0.021 -0.214 0.958 0.214 0.021
10 0.026 -0.236 0.948 0.236 0.026
11 0.032 -0.259 0.937 0.259 0.032
12 0.038 -0.28 0.924 0.28 0.038
13 0.044 -0.302 0.911 0.302 0.044
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U.UD<«L

-U.949

U.0Y0

U.o495

U.Uo<L

15

0.059

-0.343

0.88

0.343




